702

39N HNIN

Y2 Uyy + 2XyUyy + ax®uy, — uy = 0 DXNWHN MM (1
X,y > 09wNO

,721299°0, 721299 NN IRNWNN @ DY DIV IR NAY (N
IANN TIMNPN NNNN NN TIVIION

MNP NN ARNYNN IXRINAN A = 072y (2

XUy + 2XYUyy + YU,y = 1 IRIWUODN I (2
NN N NN Y (K
wiat(x,y) =x,s(x,y) = %: DINYNN NA9NN NP (3

5 TPINP NNY INYMD) DIND NNV INODPYON 1INY
INNWUHIN

DTNRD D9 NINIINSND ()

sin? (X)uyy — 2ysin(x)uyy + yzuyy = 0 nxNWHN MM (3
JRNVND N0 DX MY (X
JMPN NNNY NN (2

(x,y # 0) xuyy — yuy, + % (ux — uy) = 0 Pxnwnn MM (4

.DMIPNN P2 INIAN IRNYNI DX PND (N
MNP NN NN NN (2



